(95 FT 78 #FAT]

R 30E EET ST — (294F RS

OEXIER
| = .
FHFELE NP R L S| swzAz smens
SFTEER BELESR SR RO A 1000, WA T
BUR(hIEHE) | 3 T:<$L,<_¢L%%>7J’Eﬁd;$15 A Yt B
— ol 28 FFE
VEB) BB TR Y IR
T BEABRORE HR | &
e ey — — = | ~ER20FEE
BEFXEE | 7 ZETHRODLEHBEREBEOEERE i |
OEEHE (PLAN)
e C1EA O] (] Atk VEof [ REpEE
HOMERRIC SRR R
e L'Cl,\é;(b\ INEREBHE
DNEEEZSFY. FEEROR LEZRS-6,. EBHRE~DIT7IVDRELH
BXE |HREEOLSHRE ;E‘g%
B8 [IsLELNEEDOH
-/l\i*&éiﬁﬁi«@;ﬁ’:paﬁﬁﬁ
. v =] SOA B 1% =
g% 204 [E |~ A% *IEWE:O)EE’\O):E{ﬁ&UIFEEFH%O)X@
HE [stELTL s
= EE4A 285 E 29£Er§ VFEE[INFE[R2FE] B
T (7) 32 B RE D . L. A
I8 il - T anx ;?uc -
OXfE#ER (DO) — e -
EHRFREOHFEFRUVUTA/NERDEBREEADITIAVDHRENE I L=,
=g 9FEXEEZEEER
%Fﬁ FBHH. FERELT
T |EnES>uERET-
AE [cuazon
BEEREFE E ] —#EsE [ &% BEEES ] 2ot
EE4L 28 FEEAE | 20 FEEAE | 30 E E B A | 31 R BT | S2E EE B AE| BAfSE
B 455 = an‘I’%%% DQE-I"EQE _
i [RETS Br |w7
NDEHEFTR
+ i1z 2
o€ 3 -t | [— i ERETE|ERET-ER _ _ _ I
gi;]:é_«g\); Iumulfﬁo)mﬁﬁ %q—: E;':ET
Hot=mRT
i BEERECEHE/AE) 100.0 = = = %
SEEDEHRR | 5T B -
(+H)
R E) = IR HhHE |leomsrsE —H8EHE | B£EH
LT ELE 0 0 0 0 0 0
BETEE 0 0 0 0 0 0
GHFHE 79,727 0 223,200 0 48 302,975
TRAE 4 7 , ,
BHiRAIER s %ﬁﬁ‘%ﬁaﬁ 79,727 0 223,200 0 48 302,975
REZE 67,102 0 210,800 0 6,767 284,669
1RHREE 0 0 0 0 0 0
e EERE.234FFA/A) | EERR A (2402FF/A) MATE WEEE
0.2 0.0 1,447 286,116




(95 FT 78 #FAT]

[EHEEL  NEREFREEHEE]
g E EERE | 29FERE 0EE SEE NEE
= 0 284,669
EXREHR 55 —fiBHR 0 6,767
ANGE 0 1,447
HWEXE 0 286,116
£ fif & R
_ ) REORBEENEENT-I=. FARNBET
AFDERH-T= 55,
. o3 EOXRFEEEFAL. DENICEEXEERTDHE
ABNEMIEST- K-, *
15154 PR RO BIE
- o e -RES — i .
®;f’§§'§;'.;§1 i;; ﬁii‘é;;  MOOHEEYIELEERT BTN TES,
i ABBEERTE-
5 - FEOHEICKY, REDHBFHREEORELRDS
DR AN LT A ol
05 % DA FITEACTION)
SEROARNE 1.5 2EHE IR AHLTE
| S#BOFAEEREZ-L T, LTORICEBALTLESL,
H304 &
AR
H314E B




